

- a) 120
c) 210
- b) 220
d) 216
9. If the function $f : [1, \infty) \rightarrow [1, \infty)$ is defined by $f(x) = 2^{x(x-1)}$, then $f^{-1}(x)$ is [2]
 a) $\frac{1}{2}(1 + \sqrt{1 + 4\log_2 x})$
 b) $\frac{1}{2}(1 - \sqrt{1 + 4\log_2 x})$
 c) $(\frac{1}{2})^{x(x-1)}$
 d) Not defined
10. $\lim_{x \rightarrow 1} \frac{x-1}{2x^2-7x+5} =$ [2]
 a) $\frac{1}{11}$
 b) $\frac{-1}{11}$
 c) $\frac{1}{3}$
 d) $\frac{-1}{3}$
11. $f(x) = x + |x|$ is continuous for [2]
 a) $x \in (-\infty, \infty)$
 b) $x \in (-\infty, \infty) - \{0\}$
 c) no value of x
 d) only $x > 0$
12. Using quantifier the open sentence ' $x^2 - 4 = 32$ ' defined on W is converted into true statement as [2]
 a) $\forall x \in W, x^2 - 4 = 32$
 b) $\exists x \in W$, such that $x^2 - 4 \leq 32$
 c) $\forall x \in W, x^2 - 4 > 32$
 d) $\exists x \in W$, such that $x^2 - 4 = 32$
13. If $A = \begin{bmatrix} a & 0 & 0 \\ 0 & b & 0 \\ 0 & 0 & c \end{bmatrix}$ and $abc \neq 0$, then A^{-1} [2]
 a) $\begin{bmatrix} a & 0 & 0 \\ 0 & \frac{1}{b} & 0 \\ 0 & 0 & c \end{bmatrix}$
 b) $\begin{bmatrix} \frac{1}{a} & 0 & 0 \\ 0 & \frac{1}{b} & 0 \\ 0 & 0 & c \end{bmatrix}$
 c) $\begin{bmatrix} \frac{1}{a} & 0 & 0 \\ 0 & \frac{1}{b} & 0 \\ 0 & 0 & \frac{1}{c} \end{bmatrix}$
 d) $\begin{bmatrix} a & 0 & 0 \\ 0 & \frac{1}{b} & 0 \\ 0 & 0 & \frac{1}{c} \end{bmatrix}$
14. If A is a singular matrix of order n , then $A \cdot (\text{adj } A)$ is [2]
 a) zero matrix
 b) unit matrix
 c) column matrix
 d) row matrix
15. If $0 \leq A \leq \frac{\pi}{4}$, then $\tan^{-1}(\frac{1}{2}\tan 2A) + \tan^{-1}(\cot A) + \tan^{-1}(\cot^3 A)$ is equal to [2]
 a) π
 b) 0
 c) $\frac{\pi}{2}$
 d) $\frac{\pi}{4}$
16. The smallest positive value of x and y , satisfying $x - y = \frac{\pi}{4}$ and $\cot x + \cot y = 2$, are [2]
 a) $x = \frac{5\pi}{12}, y = \frac{\pi}{6}$
 b) $x = \frac{\pi}{3}, y = \frac{7\pi}{12}$
 c) $x = \frac{\pi}{6}, y = \frac{5\pi}{12}$
 d) $x = \frac{\pi}{4}, y = \frac{5\pi}{12}$
17. A solution of the equation $\tan^{-1}(1+x) + \tan^{-1}(1-x) = \frac{\pi}{2}$ is [2]
 a) $x = 1$
 b) $x = \pi$
 c) $x = 0$
 d) $x = -1$

- c) $a = 0$ only d) all real values of 'a'
28. The perpendicular distance of the point P(6, 7, 8) from XY- plane is [2]
 a) 8 b) 7
 c) 6 d) 5
29. If x co-ordinate of a point on the line joining points (2, 2, 1) and (5, 1, -2) is 4, then its z co-ordinate will be [2]
 a) 1 b) -1
 c) -2 d) 2
30. If $4x + 5y \leq 20$, $x + y \geq 3$, $x \geq 0$, $y \geq 0$, maximum $2x + 3y$ is [2]
 a) 5 b) 20
 c) 12 d) 0
31. If $y \sec x + \tan x + x^2 y = 0$, then $\frac{dy}{dx} =$ [2]
 a) $\frac{2xy + \sec^2 x + y \sec x \tan x}{x^2 + \sec x}$ b) $\frac{2xy + \sec^2 x - \sec^2 x \tan x}{x^2 + \sec x}$
 c) $-\frac{2xy + \sec^2 x + \sec x \tan x}{x^2 + \sec x}$ d) $-\frac{2xy + \sec^2 x + y \sec x \tan x}{x^2 + \sec x}$
32. If $y = \frac{2(x - \sin x)^{\frac{3}{2}}}{\sqrt{x}}$, then $\frac{dy}{dx} =$ [2]
 a) $\frac{(x - \sin x)^{\frac{3}{2}}}{\sqrt{x}} \left(\frac{3}{2} \cdot \frac{1 - \cos x}{x - \sin x} - \frac{3}{2x} \right)$ b) $\frac{2(x - \sin x)^{\frac{1}{2}}}{\sqrt{x}} \left(\frac{3}{2} \cdot \frac{1 - \cos x}{x - \sin x} - \frac{1}{2x} \right)$
 c) $\frac{2(x - \sin x)^{\frac{3}{2}}}{\sqrt{x}} \left(\frac{3}{2} \cdot \frac{1 - \cos x}{1 - \sin x} - \frac{1}{2x} \right)$ d) $\frac{2(x - \sin x)^{\frac{3}{2}}}{\sqrt{x}} \left(\frac{3}{2} \cdot \frac{1 - \cos x}{x - \sin x} - \frac{1}{2x} \right)$
33. If $y = \left(1 + \frac{1}{x}\right)^x$, then $\frac{dy}{dx} =$ [2]
 a) $\left(1 + \frac{1}{x}\right)^x \left[\log\left(1 + \frac{1}{x}\right) - \frac{1}{1+x} \right]$ b) $\left(x + \frac{1}{x}\right)^x \left[\log(x - 1) - \frac{x}{x+1} \right]$
 c) $\left(1 + \frac{1}{x}\right)^x \left[\log\left(1 + \frac{1}{x}\right) + \frac{1}{1+x} \right]$ d) $\left(1 + \frac{1}{x}\right)^x \left[\log\left(1 + \frac{1}{x}\right) \right]$
34. If $y = \sin x + e^x$, then $\frac{d^2y}{dx^2} =$ [2]
 a) $\frac{\sin x - e^x}{(\cos x + e^x)^3}$ b) $(-\sin x + e^x)^{-1}$
 c) $\frac{\sin x - e^x}{(\cos x + e^x)^2}$ d) $\frac{\sin x + e^x}{(\cos x + e^x)^3}$
35. A point moves in a straight line during the time $t = 0$ to $t = 3$ according to the law $s = 15t - 2t^2$. The average velocity is [2]
 a) 15 units b) 9 units
 c) 27 units d) 3 units
36. If for a function $f(x)$, $f'(a) = 0$, $f''(a) = 0$, $f'''(a) > 0$, then at $x = a$, $f(x)$ is [2]
 a) Minimum b) Extreme point
 c) Maximum d) Not an extreme point
37. A running track of 440 ft is to be laid out enclosing a football field, the shape of which is a rectangle with a semicircle at each end. If the area of rectangular portion is to be maximum, then lengths of sides are [2]
 a) 110, 70 b) 140, 40

- c) 120, 60 d) 130, 50
38. $\int x \sin^2 x \, dx =$ [2]
- a) $\frac{x^2}{4} + \frac{x}{4} \sin 2x + \frac{1}{8} \cos 2x + c$ b) $\frac{x^2}{4} - \frac{x}{4} \sin 2x + \frac{1}{8} \cos 2x + c$
- c) $\frac{x^2}{4} + \frac{x}{4} \sin 2x - \frac{1}{8} \cos 2x + c$ d) $\frac{x^2}{4} - \frac{x}{4} \sin 2x - \frac{1}{8} \cos 2x + c$
39. $\int \left(x + \frac{1}{x}\right)^3 dx =$ [2]
- a) $\frac{1}{4} \left(x + \frac{1}{x}\right)^4 + c$ b) $\frac{x^4}{4} + \frac{3x^2}{2} + 3 \log x - \frac{1}{2x^2} + c$
- c) $\frac{x^4}{4} + \frac{3x^2}{2} + 3 \log x + \frac{1}{x^2} + c$ d) $4 \left(x + \frac{1}{x}\right)^4 + c$
40. $\int \left(\frac{1}{x-3} - \frac{1}{x^2-3x}\right) dx = \text{_____} + c, x > 3$ [2]
- a) $\frac{2}{3} \log [\sqrt{x}(x-3)]$ b) $\frac{2}{3} \log [x(x-3)]$
- c) $\frac{1}{3} \log [x(x-3)]$ d) $\frac{1}{3} \log [\sqrt{x}(x-3)]$
41. If $\int \frac{\tan x}{1+\tan x+\tan^2 x} dx = x - \frac{2}{\sqrt{A}} \tan^{-1} \left(\frac{2\tan x+1}{\sqrt{A}}\right) + c$, then A = [2]
- a) 2 b) 4
- c) 5 d) 3
42. Area bounded by the curve $y = \sin x$ between $x = 0$ and $x = 2\pi$ is [2]
- a) 16 sq. units b) 2 sq. units
- c) 8 sq. units d) 4 sq. units
43. The integrating factor (I.F.) of differential equation $\frac{dy}{dx}(1+x) - xy = 1-x$ is [2]
- a) $(1+x)e^{-x}$ b) $(1-x)e^{-x}$
- c) $(x-1)e^{-x}$ d) $(1+x)e^x$
44. The differential equation representing the family of curves $y^2 = 2d(x + \sqrt{d})$, where d is a positive parameter, is of [2]
- a) degree 2 b) degree 3
- c) degree 4 d) order 2
45. The solution of the differential equation $(2x - 4y + 3)\frac{dy}{dx} + (x - 2y + 1) = 0$ is [2]
- a) $\log [2(2x - 4y) + 3] = 2(x - 2y) + c$ b) $\log [(2x - 4y) + 3] = x - 2y + c$
- c) $\log [4(x - 2y) + 5] = 4(x + 2y) + c$ d) $\log [2(x - 2y) + 5] = 2(x + y) + c$
46. The p.d.f of a r.v. X is $f_x(x) = \begin{cases} \frac{k}{\sqrt{x}}, & 0 < x < 4 \\ 0; & \text{otherwise} \end{cases}$, then the c.d.f. of X is given by [2]
- a) \sqrt{x} b) $2\sqrt{x}$
- c) x d) $\frac{\sqrt{x}}{2}$
47. Let $f(x) = \begin{cases} \frac{1}{x^2}, & 1 < x < \infty \\ 0; & \text{otherwise} \end{cases}$ be the p.d.f. of a r.v. X. If $C = \{x : 1 < x < 2\}$ and $C_2 = \{x : 4 < x < 5\}$, then $P(C_1 \cup C_2)$ [2]
- a) $\frac{13}{20}$ b) $\frac{11}{20}$

